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(i) This Question Paper consists of 30 questions.

(ii) All the questions are compulsory.

(iii) Marks for each question have been indicated against it.

(iv) Each question from Q. Nos. 1 to 8 has four alternatives (A), (B), (C) and
(D) and out of which one is the most appropriate. Choose the correct answer
among the four alternatives and write it in your answer-book against the
Number of question. No separate time is allotted for attempting multiple choice
questions.
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1  Trisomy of chromosome 21 is the characteristic of : ; 1

(A) Turner's syndrome (B) Haemophilia
(C) Klinefelter's syndrome (D) Down's syndrome
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2 Sucker fish - Remora, attaches itself to the body of a shark by means of its 1
sucker. This type of association is known as -
(A) Mutualism : (B) Predation
(C) Commensalism (D) Parasitism
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3 Pick the odd one out : | 1
(A) Chlorenchyma ' (B) Sarcolemma A
(C) Parenchyma - (D) Sclerenchyma
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4  Identify the primary function of the stem : ' 1
(A) Perennation ' "
(B) Climbing
(C) Conduction of water and minerals and food
(D) Photosynthesis
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5  The blood vessel which transports oxygenated blood from the lungs to the 1

heart is :
(A) Aorta ' (B) Pulmonary vein
(C) Pulmonary artery (D) Inferior Vena Cava
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6  The father of modern Immunobiology is - ' 1
(A) Alexander Fleming . (B) Louis Pasteur .
(C) Edward Jenner (D) Gregor Mendel
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7 The type of pollination in flowers like lotus, that are large, brightly coloured, 1
scented and secrete nectar is :
(A) Entomophily (B) Hydrophily
(C) Anemophily (D) Zoophily
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8  Identify the phylum in which animals have nephridia as their excretory organs el

(A) * Platyhelminthes (B) Cnidaria ¢
(C) Annelida (D) Aschelminthes
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9  Match the organisms in Column A with its appropriate links in Column B ‘and' %
write the correct match in your answer book : -

Column A : Column B
(a) Anabaena _ (i) Nitrifying bacteria
(b) Utricularia (11) Malpighian tubules
(c) Cockroach (iii) Cynobacterium
(d) Nitrosomonas (iv) Insectivorous
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10 Enumerate any four activities which would help in sustainable development. 2
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11 Define the term Phyllotaxy. Name the three types of phyllotaxy with one 2
example each.
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12 Name the exact location of the following : Sr 2
(@) Tricuspid Valve '
(b) Semilunar Valve
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13 (a) Name the gall-producing bacterium whose plasmid can be conventiently 2
used to produce transgenics.

(b) Name two diseases for which bioengineered vaccines have already been
developed. '
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14 A colour blind man marries a woman who has normal colour vision. A son 2
and a daughter born to them is colour blind. Show this with the help of a
flow chart.
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15 Distinguish between a Universal donor and a Universal recipient. a2
s <@ 9@ Aihe WIe 3 Y SaRY |

16 Fill in the blanks : (Write your answer in the answer book) _ 2
(a) The space between the meninges is filled with a fluid called

(b) initiates and regularizes the heart beat and is also known as
the pacemaker. '
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17 Define the terms : _ 2
(a) Vernalisation
(b) Photoperiodism
frfafaa sl @1 ufem fofeg ¢
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18  Mention any three criteria used to determine the essentiality of an element 2
for the healthy growth of a plant, and give an appropriate example.
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19 (a) State Chargaffs rule. | 2

(b) What is an Operon ?
(@ riw g saET
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20 Draw a neat and labelled diagram of a stomata of a dicot leaf 2
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21 State any four factors responsible for population explosion in India and also 4
state any four problems posed to the country due to this uncontrolled population
growth.
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22 (a) Briefly explain sexual reproduction in bacteria. 4

(b) Give the scientific names of any two disease causing bacteria and the
diseases they cause.
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23 (a) Draw a neat and labelled diagram of the vertical section of the human 4
eye.

(b) Name the type of lens used to correct Myopia and Hypermetropia.
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24 Name the five major classes of antibodies. Which of them is found in the 4
highest concentration in humans ? Give the full form of Ig.
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25 A woman is pregnant and is advised by her doctor to have a balanced diet. 4
What did the doctor mean by this statement ? What are the nutritional needs
required by her during this period ?
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26 Draw a neat diagram of the L.S. of an ovule of an angiosperm and label 4
the following parts :

(i) Embryo sac and its contents

(i) Integument and micropyle.
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27 Distinguish between the following giving appropriate examples : 6
(@) Monocotyledons and Dicotyledons
(b) Monadelphous and Diadelphous
(c) Chondrichthyes and Osteichthyes.
U SaE ¥ gu Preiied F oY SAEY
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Grass — Grasshopper — Frogs — Snake

(@)

(b)

Fertilisation, Implantation, Ovulation are technical terms used to describe 6
reproductive events in a human female.

(1) Place them in correct sequence of occurrence

(1) Define each of the terms.

What do the following terms mean, also state their mgmﬁcance ?

(i) Colostrum

(i) Amniocentesis
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Represent photosynthesis by an overall chemical equation. 6
Give a diagrammatic representation of the Calvin cycle.

Name the initial CO, acceptor in C; and C; cycle.
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(i) Work out the energy flow in the above food chain if the grass has
1000 k.cal of energy. What will the snake receive ?

(il) What is each step of the food chain known as ?

(iii) What is the ideal number of steps in a food chain and why ?

Though, Biodiversity is important for our survival, we are destroying it

knowingly or unknowingly.

List any four reasons as to why biodiversity is under ‘threat ?
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